Santa Barbara County Public Works Department

County Project 862368

BID SUMMARY SHEET

Construction of Rumble Strip on Betteravia Rd & Simas St

Fed. Proj. #HRRRL-5951(150)

Bid Op	ening Date:	Tuesday, June 16, 2015 @ 2:00 PM			SOUZA I	NG. CONTR.					ENGINEE	R'S ESTIMATE
Item	Item Code	Description	Unit	Est. Qty.	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost
	THIRD SUPERV	VISORIAL DIST BID ITEMS (Area 3001)										
1	120100	TRAFFIC CONTROL SYSTEM	LS	1	\$129,364.50	\$ 129,364.50		\$ -		\$ -		
2	130200	PREPARE WATER POLLUTION CONTROL PROGRAM	LS	1	\$ 4,500.00	\$ 4,500.00		\$ -		\$ -		
3	374002	ASPHALTIC EMULSION (FOG SEAL COAT)	SY	9,580	\$ 1.00	\$ 9,580.00		\$ -		\$ -		
4	378009	MICRO-SURFACING (TYPE 3)	SY	32,200	\$ 5.68	\$ 182,896.00		\$ -		\$ -		
5	394051	CENTERLINE RUMBLE STRIP (AC,GROUND-IN INDENTATIONS)	LF	28,000	\$ 0.41	\$ 11,480.00		\$ -		\$ -		
6	394053	SHOULDER RUMBLE STRIP (AC,GROUND-IN INDENTATIONS)	LF	56,000	\$ 0.31	\$ 17,360.00		\$ -		\$ -		
7	560248	FURNISH SINGLE SHEET ALUMINUM SIGN (0.063"-UNFRAMED)	SF	100	\$ 16.55	\$ 1,655.00		\$ -		\$ -		
8	810100	SURVEY MONUMENT INITIAL RESEARCH AND FIELD RECONNAISSANCE	LS	1	\$ 600.00	\$ 600.00		\$ -		\$ -		
9	810101	SURVEY MONUMENT (PRE-CONSTRUCTION TIE OUT)	EA	20	\$ 120.00	\$ 2,400.00		\$ -		\$ -		
10	810102	SURVEY MONUMENT (POST-CONSTRUCTION RESET)	EA	20	\$ 100.00	\$ 2,000.00		\$ -		\$ -		
11	840501	THERMOPLASTIC TRAFFIC STRIPE (EXTRUDED)	LF	85,700	\$ 0.83	\$ 71,131.00		\$ -		\$ -		
12	840666	PAINT PAVEMENT MARKING (2-COAT)	SF	885	\$ 3.00	\$ 2,655.00		\$ -		\$ -		
13	850111	PAVEMENT MARKER (RETROREFLECTIVE)	EA	1,145	\$ 3.30	\$ 3,778.50		\$ -		\$ -		
14	860604	SOLAR POWERED SINGLE RED FLASHING BEACON TYPE 1-A	EA	4	\$ 9,200.00	\$ 36,800.00		\$ -		\$ -		
15	860605	SOLAR POWERED DOUBLE YELLOW FLASHING BEACON TYPE 15-FBS	EA	4	\$ 9,200.00	\$ 36,800.00		\$ -		\$ -		
	BID ITEMS TO	TAL:				\$ 513,000.00		\$ -		\$ -		\$ 312,167.50

		TOTAL BIDS
1	\$ 513,000.00	SOUZA ENG. CONTR.
2	\$ -	0
3	\$ -	0
4		
5		
6		
7		
8		
9		
10		
11		

		BID R	EVIEW			\$600,000.00				
Percent diffe	eren	ce between bi	ds	Did rand	700	\$500,000.00				
Lowest bid	\$	513,000.00	%	- Bid rang	ges	, , , , , , , , , , , , , , , , , , , ,				
vs. 2nd lowest bid	\$	-	100.0%	within 6% of low	NO	\$400,000.00	\blacksquare	 		
vs. 3rd lowest bid	\$	-	100.0%	within 9% of low	NO	\$300,000.00	Ш			
vs. highest bid	\$	513,000.00	0.0%	within 17% of low	YES					
vs. Engineer's Estimate	\$	312,167.50	39.1%			\$200,000.00				
						\$100,000.00				
ntered by:	Nor	int Keen		16-Jun-15		\$-	-	 4 5	6 7	 10 11

SUBCONTRATOR LIST SHEET No. __ COUNTY PROJECT NO. 862368

The Bidder must identify each subcontractor performing work in an amount in excess of 1/2 of 1 percent of the total bid or \$10,000 whichever is greater (Pub Cont Code § 4100 et seq.). Submit the name and location of the place of business, telephone and FAX numbers, license numbers and classification of each subcontractor. List that portion of work which will be done by each subcontractor for each subcontract by individual item number, percent of item, dollar amount of item and brief description.

You may either submit the percentage of each bid item subcontracted with your bid or E-Mail the percentage to: pwspecwriter@cosbpw.net or deliver to Spec Administrator, at: 123 E. Anapamu Street, Santa Barbara, CA 93101, within 24 hours after bid opening.

Name 310 A STREET Address FILL HORE CA, 93-14 City, State, Zip 805 - 524 - 7315 Phone Number 505 - 524 - 7428 Fax Number E-Mail Address # 100000752 Public Works Contractor Registration Number # 396627 C-32 License Number and Classification	Item No. Percent of Item Dollar Amount TEAFIC CONTROL (PORTUD) Description of Above Item (7) (96 %) (\$1,500.50) Item No. Percent of Item Dollar Amount FURNISH SINDLE SIMEET ALUMINA SIGN Description of Above Item (1) (90 %) (\$4,275.50) Item No. Percent of Item Dollar Amount THELMOPASTIC TEAFFIC STRIPE Description of Above Item
Name 310 A STREET Address FU MONE, CA 93015 City, State, Zip 805-514-7345 Phone Number 805-514-7428 Fax Number	Item No. Percent of Item Dollar Amount Part Parener Charles (2- Copy) Description of Above Item (13) (91%) (43435 ***) Item No. Percent of Item Dollar Amount Parener Charles (2- Copy) Description of Above Item
E-Mail Address # 1006006 752 Public Works Contractor Registration Number # 396627 , C-32 License Number and Classification	Item No. Percent of Item Dollar Amount TEMP EOLEURE STRUCE Description of Above Item B8,455.43 Total Dollar Amount This Page

NOTE: This form may be reproduced and attached behind this page to list more Subcontractors.

Bidder's Signature

SUBCONTRATOR LIST SHEET No. __ COUNTY PROJECT NO. 862368

The Bidder must identify each subcontractor performing work in an amount in excess of 1/2 of 1 percent of the total bid or \$10,000 whichever is greater (Pub Cont Code § 4100 et seq.). Submit the name and location of the place of business, telephone and FAX numbers, license numbers and classification of each subcontractor. List that portion of work which will be done by each subcontractor for each subcontract by individual item number, percent of item, dollar amount of item and brief description.

You may either submit the percentage of each bid item subcontracted with your bid or E-Mail the percentage to: pwspecwriter@cosbpw.net or deliver to Spec Administrator, at: 123 E. Anapamu Street, Santa Barbara, CA 93101, within 24 hours after bid opening.

PAVEMENT COATINGS CO.	. () () (
Name	Item No. Percent of Item Dollar Amount
10240 SAN SEVAINE WAY	
Address	Description of Above Item
JURUPA VAILEY CA 91752	
City, State, Zip 714- 826- 3611	(4) (87 do) (160,000)
Phone Number	Item No. Percent of Item Dollar Amount
714- 826, 3121	Description of Above Item (PORTIN)
Fax Number	Description of Above Item (poenw)
E-Mail Address	
# 1000003382	() ()
Public Works Contractor Registration Number	Item No. Percent of Item Dollar Amount
License Number and Classification	
License Number and Classification	Description of Above Item
PAVENENT RECYCLING SYSTEMS Name 10240 SAN SEVAINE WAY Address JURUPA JAKEY CA 91752 City, State, Zip 951-682-1091 Phone Number 951-682-1094 Fax Number	Item No. Percent of Item Dollar Amount ASPHALTIC EMUISION (FOB SEM CORP) Description of Above Item (PORTION) Item No. Percent of Item Dollar Amount CENTER LINE RUMBLE STRIP (PORTION Description of Above Item
E-Mail Address	(Ce) (H60/2) (B025) Item No. Percent of Item Dollar Amount,
Public Works Contractor Registration Number	Item No. Percent of Item Dollar Amount
# 569352, A	SHOULDER RUBEL STRIP (POPMON)
License Number and Classification	Description of Above Item
	Total Dollar Amount This Page

NOTE: This form may be reproduced and attached behind this page to list more Subcontractors.

Bidder's Signature

SUBCONTRATOR LIST SHEET No. ___ COUNTY PROJECT NO. 862368

The Bidder must identify each subcontractor performing work in an amount in excess of 1/2 of 1 percent of the total bid or \$10,000 whichever is greater (Pub Cont Code § 4100 et seq.). Submit the name and location of the place of business, telephone and FAX numbers, license numbers and classification of each subcontractor. List that portion of work which will be done by each subcontractor for each subcontract by individual item number, percent of item, dollar amount of item and brief description.

You may either submit the percentage of each bid item subcontracted with your bid or E-Mail the percentage to: pwspecwriter@cosbpw.net or deliver to Spec Administrator, at: 123 E. Anapamu Street, Santa Barbara, CA 93101, within 24 hours after bid opening.

LEE WILSON ELECTRIC	(14) (9100) (\$33,500°°)
Name	Item No. Percent of Item Dollar Amount
PO BOX 250	Solan POWER SINGLE RED
Address	Description of Above Item
ARROYO GRANDE CA 93421	FLASHOW BEACON
City, State, Zip	#
BOT - 489 - 4216	(15) (91 olo) (\$ 33,500°)
Phone Number	Item No. Percent of Item Dollar Amount
805. 489. 0248	Solar POWER Signile YEllow
Fax Number	Description of Above Item
	Flastine Béaun
E-Mail Address	
# 1000007719	() () (
Public Works Contractor Registration Number	Item No. Percent of Item Dollar Amount
# 851738, C-10, AB	
License Number and Classification	Description of Above Item
Name	Item No. Percent of Item Dollar Amount
Address	Description of Above Item
Address	Description of Above Item
Address City, State, Zip	Description of Above Item
	Description of Above Item () () ()
	Description of Above Item () () () Item No. Percent of Item Dollar Amount
City, State, Zip	() ()
City, State, Zip	_() () _
City, State, Zip Phone Number	() ()
City, State, Zip Phone Number	() ()
City, State, Zip Phone Number Fax Number E-Mail Address	() () () () Item No. Percent of Item Dollar Amount Description of Above Item
City, State, Zip Phone Number Fax Number	()
City, State, Zip Phone Number Fax Number E-Mail Address Public Works Contractor Registration Number	() () () Item No. Percent of Item Dollar Amount Description of Above Item () () () Item No. Percent of Item Dollar Amount
City, State, Zip Phone Number Fax Number E-Mail Address	() () () () Item No. Percent of Item Dollar Amount Description of Above Item
City, State, Zip Phone Number Fax Number E-Mail Address Public Works Contractor Registration Number	() () () Item No. Percent of Item Dollar Amount Description of Above Item () () () Item No. Percent of Item Dollar Amount
City, State, Zip Phone Number Fax Number E-Mail Address Public Works Contractor Registration Number	() () () Item No. Percent of Item Dollar Amount Description of Above Item () () () Item No. Percent of Item Dollar Amount

NOTE: This form may be reproduced and attached behind this page to list more Subcontractors.

Bidder's Signature

Total Dollar Amount This Page